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3 |HRIRE CHRed AERl5] 38 37|  H01|EH-BIFE~OFHG 45 44 o1
4 |ETHALE 37 37 +0.0| xR 45 45 +00
5 |BfTiEHIFE 3.6 35| HO01|REOHESNRT 45 45 +00
6 |EfTiEsh - BRRFOERILER 36 35| toi|AOmioERER 43 43|  +o00
7 |&EPADRAL 36 38 00| EAFRANE - EEHH 43 43 +00
8 |BH-BIEEA~OHE 35 35 +0.0|@iTIEHTE 42 42 +00
9 |HEFTOL—COER 35 35|  +00|ESERETHOERIEM 42 42|  +00
10 [ADRIOIERER 35 34| H01|{thOEREE~DEANRT 42 42|  +o00
11 |ESRETROERIEE 35 35 +00|iEREFVFT—ODFEEE 42 42 +00
12 |ERF AR E5H 35 35 +0.0|REOETCE|SIHIE 42 42 +00
13 [EOSEEE~DERET 3.5 35| £00[@iTIES - FERH O ERILHR 4.1 4.1 +00
14 |EPAICBIAHEEDEREE 35 35 +0.0|HERTOL—DERE 41 4.1 +00
15 | BV I—0DREE 34 34 +0.0|HEfRRE YT DIHxt 40 41 —0.1
16 [ FEFTOTERIER 34 34 +0.0| IR E 5T AEE S 5] 40 40 +00
17 |lRfEEREESE A —DER 34 34|  00|HPADRAL 40 40| *00
18 |lRAERICET AIEROSHAAvT S 33 33|  F00|HEAOERIERE 38 38| +o00
19 |EPADOERGEY—ER 32 3.1 +0.1 | BHEDFEH#HIE 38 3.8 +00
20 |IRTED FREHIE 3.1 30| +0.1|MReSEDOPAKORER 38 38 =xo0
21 |BRfmROPASOEE S 30 29|  HOI|RfSRICET AEROFA~PTE 3.7 37  +00
22 (BEMETCE|SIHIE 2.7 26| H01|BPAIZBHAEE DERERE 36 35 401
23 |l 2.6 26 +0.0|EPADRFTH—ER 35 3.4 +0.1
24 | BEOHESSE 24 23| H0I1|RAEEBESEELE—DEN 34 33| 401
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